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=

ZERIPERE T HHEREE - ¢ 500 X H100 &7 2.0 50.0 0.04 1.7 0.07
=

ZERIPERE T THEBEE ¢ 500 X H200 &7 2.0 50.0 0.04 1.7 0.07
=

T2 ERE L JEEHR ¢ 500 X H40 &7 2.0 50.0 0.04 1.7 0.07

<PERRIFPEME T >

BERR T U] R ghas itk 15 ¢ 250 &7 26.7 1.7




R . HY%D TEER¥ (H) fii #
T i il HAL | E¥EE e e — —
(SIS IESTES T
BERR 22 K9 - I X Bk 35 ¢ 500 &7 16.0 1.7
<JEZKEER T >
AR T FAKHERL ¢ 75~ ¢ 50 m 198.7 750 0.26 1.7 0.44
& &t 36 62
S A= Bl 4720 RREEEE TR AL,
3N X 37H = 11TA|1H %03 N/HEEE E35,

{H ke
<EAfigk L>
77 WEF T ¢ 75 7.5k H 2 16.7 0.12 1.7 0.2
TH KA R T 75 Hi RO e 1 12.5 0.08 1.7 0.14
<P kARE > H=640

M35
AR E R E T M7 500mm X H100 &7 1 10 0.1 1.7 0.17

by
AR E R E T EBEE ¢ 500 X H200 &7 1 33.3 0.03 1.7 0.05

Ly
AR E R E T FPEE ¢ 500X H100 &7 1 50 0.02 1.7 0.03

Lyl
AR E R E T THEEE ¢ 500 X H200 &7 1 50 0.02 1.7 0.03

Loyl
WA E T JEEHR ¢ 500 X H40 &7 1 50 0.02 1.7 0.03
& @ 0 1
S A= Bl 470 RREEEE TR AL,

3N X 2H = 6 A|1H Y3 N/HAEE E35,




